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Answer all eight questions.

Show clearly the full development of your answers.

Answers should be given to three signifi cant fi gures unless otherwise stated.

1 (a) Find

                                                              dx x x x4 2 73 2
1

2+ + + -y
        [5]

 (b) A car starts from rest and its speed is measured, by an electronic device, every 2 seconds 
 during the fi rst 10 seconds of its motion.

Table 1 below gives the results obtained.

      Table 1

 Use the trapezium rule with 6 ordinates to estimate the distance travelled by the car. [4]

2 A circle has the equation

 (i) Write down the centre of this circle.  [2]

 The circle cuts the positive x-axis at the point A.

 (ii) Find the coordinates of A.  [3]

 (iii) Find the gradient of the tangent to the circle at the point A.  [3]

Time (s) 0             2              4               6               8               10

Speed (m s–1) 0          4.91          10.8          15.4          17.0          17.9

( 1) ( 2) 13x y2 2- + - =
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3 Three sequences are given below ( 1):n H

       A 2Un
n=

       B U 2
1

n n=

       C 2( 1)Un
n= -

(i) For each sequence write down the fi rst four terms and hence state if the sequence 
converges, oscillates or diverges.  [4]

(ii) For any sequence that converges state its limit.  [1]

4 Fig. 1 below shows sketches of the curve 4 4y x x2= - +  and the straight line 4y x= +

Fig. 1

(i) Verify that the curve and the line intersect at the point (0, 4).  [2]

(ii) Find the shaded area.  [11]

4y x= +

4 4y x x2= - +
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5 A man wishes to share £C between his six children.
 The children are to get increasing amounts of money according to their position in the family. 

The youngest is to get the smallest amount of money and the eldest is to get the largest 
amount of money. 

 The amounts of money form a geometric progression.

The youngest child gets £17 and the eldest £4131

 (i) Find the common ratio of the geometric progression.  [5]

 (ii) Hence fi nd C.   [2]

6 A circle centre A has a radius of 10 m. 
 BC is a chord of the circle as shown in Fig. 2 below.

Fig. 2

 The angle BAC is 2 radians.
D is a point on the circumference of the circle.

(i) Find the area of the sector ACDB.  [2]

 (ii) Hence fi nd the shaded area.  [4]

2 rad10 m 10 m
A

B

D

C
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A millionaire wishes to build a swimming pool in the shape of two intersecting circles.
Each circle is to be of radius 10 m as shown in Fig. 3 below.

Fig. 3

 The angle between the radii at the centre of each circle is to be 2 radians as shown.

(iii) Find the surface area of the swimming pool.  [4]

 (iv) Find the perimeter of the swimming pool.  [5]

7 Find the term independent of x in the binomial expansion of 

       3x x
1 9

2+a k   [5]

10

10

2 2

10

10
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8 (a) A solution by trial and improvement will not be accepted.

The cost of living is increasing by 15% per year.
If this rate is maintained and the cost of living this year is £ L, then the cost of living 
after t years can be modelled by £ L(1.15)t

Find how many complete years it will take for the cost of living to treble. [5]

(b) Find the exact values of x and y given that 

      logy x = 3
  

            and log3 x – log3 y = 5  [8]

THIS IS THE END OF THE QUESTION PAPER

http://www.studentbounty.com


http://www.studentbounty.com


7831  8 [Turn over7831 

http://www.studentbounty.com


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.3
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /CreateJDFFile false
  /SyntheticBoldness 1.000000
  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


